P=100 P=100
9a
................................................... ."y HHH#W“E* @ ."y
PN ® @L<
P=14,25 m2 - 2 428
parket P=100 11.16
g ™12
19,88m 2 P=15,10m 2 P=13,10 m 2
parket parket
2 2 2 3
| s B e
:‘ ﬂ 273 & w I " " 1 |
wﬂm&_.nl 1 _w
= 5 y vnA.cw?_
D 5 i
! 58 Ja |

P=51,60 @@
ZIP=24,67m? P=51,79m?(3

/P - el
a 1 _
uunﬁmzmvuw@%:@ _AMM%wnﬂnm “

=2t

100 1

K

-

3
N

T /p ‘ol L& Pet dim’
parket
2655 N 5 2 X
P=22,36 m 2 )
parket _vnaw.oaqsn P=17,23 m P=17,92 m

parket parket parket

P=100 P=100 |

“ i_ LGame L H_u,....wu‘ﬁ nm,_&- i “@“Q %mmwﬁw”@ b
| e | WTL%ILI@ HEHEHE

I
[T
‘IF_
D
(2
1
S
RERG\RE
T
I
I

SUSEDNI OBJEKAT

® ®

OSNOVA IV. SPRATA kota poda +12.63



